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June 2018 geometry regents answers with work

June 2018 Is worth credit to every correct answer in part 2. No partial credit. The work should not be made public. 1. After a clock ingt about point x, the Scullini triangle is shown in the DIAGRAM below, as shown in the DIAGRAM on the MAP of ABC. Which statement should be correct? 1) :ols2) £ A= £ R j5bw « Guo,S Sl Dawsz + S 1S e S
il ol Sl bl el sl OS tole el 00 el ualli Jsouws. Angle is compatible with Angle R. Angle B corresponds to Angle S. Angle C corresponds to Angle T. The choice is not the angle according to 2. The choice is not on the 3 and 4 sides accordingly. The wicked symbol . 2. Diagram, AB | DEF . AE 4| BD slSC . m £ B=43°. ;I m £ CEF = 152

°. Which statement is correct? [yl « Qiglj Olsls> Jolie [0S 71 = a4l £ aul (3) iwls> D = 43 [lw (25 S 55 °. Angle k is merged to 152 degrees, so it must be 180-152 s s 28 degrees. By the problem of the outer angle, the angle must be the amount of two remote angles, D and C. So 43 s 28 s 71 degrees. 3. Diagram below, line m is parallel to line N. The
picture of The Shape 1 after a reflection on the 2 line m. Shape No. 3 is the picture of Shape 2 after a reflection on line n. Which change will take 1 figure in one form? Answer: (4) a translation will transfer the data directly to 1. The figure swells in the reflectdirection, but its reflection changes back to its original direction a second time. A retrieval will increase
its size. A rotation will change its familiarity, as will one reflection. 4. gl luuwulg « juo p,SLI5 uo L3 DB LS C « gl AD gl FBE[IS pull il OsS Ui tule gwlm £ D=65°.m £ 115= S °,.DC=7.2.AC=9.6 . 21.6 = ww | ol. What is the length of the filling? [sl; )31 16.2 (3) :ols> DBE = 115 [lislj a2 « sS55 DBF = 65 s,35. This angle creates DBF
and D-Kongervant. Angles are monotheised and BCF are the co-ovens because they are vertical angles. So, two triangles are similar. (Of course, if these triangles weren't the same to start with, then it would be a very difficult problem to deal with!) This means that the relevant sides are proportional. 7.2/9.6 = x/21.6 9.6 x = (7.2) (21.6) x = (7.2) (21.6)/9.6 =
16.2 5. g1 40 s3> RSTV . Lo kiww 9 = ylJ> RS. If the square RSTV is dilated by a given center element of about 3 scale, what is the frame, in centimeters, of the IMAGE of RSTV after the re-recovery? Answer: (4) 108 if s s s, then the frame is 9 * 4 s 36. If the square is dilated by an element of 3, then the frame will be 3 times greater. So 36 * 3 s 108.
Alternatively, 9*3 s s 27 cm picture length, and 27* 4 s s 108. 6. In the right triangle ABC, the length of the VT AB is 26 cm, and the length of the BC is 17.6 cm. What is the measurement of Angle B, the closest degree? ;55 ° 47 (2) :wlg> B =17.6/26 B = 17.6/26) 1- ,45) = Or 47 degrees. 7. The picture of the plant house below can be modeled with a half-
cylinder above as an eye-opener prism. The icar prism is 20 feet wide, 12 feet high, and 45 feet long. Half the cylinder has a 20-foot drop. What is the size of the greenhouse, up to the nearest Cubic Foot? Answer: (1) 17,869 The volume of the icar prism is x width x height. Half the cylinder is 1/2 p x radius2 x height. Height labels do not confusion on two
things that are done. Vp = (12) (20) (45) = 10800 Vc = (1/2) (10) 2 (pi) (45) = 7068.583... Approximately 17,869 for a total of 8. 2) [J[] LS wlalss [iglj aauis , om0 alin Guils SiIX + 4) = 46) j5S). What is the value of X? [0 Ju3 [z xie $l=i Ol [0S jsS sl OUS [0S Tisls 2o « pao calio mumuo Sl 20 (1) :olg=>: sin (O) = 90) ;o5-0) 2) (LS 31 9ix + 4) = (46) jsS

2 ,@X+4=90-46 2x + 4 = 44 2x = 40 x = 20 9. In the following form, AB | DFC, Al-Qaeda | CBG Gates, and GCB and AG are ready. Which statement is always true? ¢dio (4) :wls> DEF ~ [[SGs4S ol ¢ulin AB | | EDF then angle A s s angle EDF, and angle e-commerce is the property by itself. By AA, the triangles are DEF and now similar. Wrong answers,
the selection (1) was corrected and not to be construed as similar, due to the alternate entry angle and vertical angle. However, there is no indication that F is the substance of the EB or CD, or that bc is from the congress. 10. A pyramid base is a stoic with a width of 4.6 cm and a length of 9 cm. What is the height, in inches, if the size of the pyramid is 82.8
cm3? Qoo [ [IS oz [IS S0y iz v LT K16 (1) :ole> V=1/3L*W *H9) * (4.6) * (1/3) = 82.8 I5[J) (1) * H. ,sl H =82.8/((1/3) * (4.6) * (9)) H = 6 11 ,%0 skisw. Right triangle aED, bc diagram below | De. Which statement is always true? _ [l (2) :wls>/AD = BC/uaixe (1) il lale (ilxigl Jislbo/silzigl juaize = Guwsistisl] Jisho/ s & L s5
wlobue Ll 00 U8 D=y 05 (8 « 6) [laits o> [ LS wlgbue Sl S Y wwl .12 Ygua> [ilzio--[IS 59 juaiol g Jigl * [ha> * =/= (ilxigl juaizel/ il Jish (4) Ugua> [ilzio-- gl (mallsilzigl juaize =/=[IS sbis Jigdo * 155 *olis uaise (3) oS> lalé-(Slmigl juaizol/iligl Jiglo =/= Gaw Jugdo/Guws Y = 312 X + 5 S [J[] gual ore Y Sl @ilw [IS Answer: (2) y-
8 s-2/3 (x-6) Length means that the new line is the shield-2/3, so finish the selection (1) and (3), which are parallel. The point shield form is y-yO s m (x-x0). Note the signs. Plug in 6 for X0 and 8 y0 for 13. Displays the paralylogram ABCD with the drop and dragon in the form below. Is the additional information enough to prove that the paralylogram ABCD is
also a rombos? Answer: (4) From Ac Lamb to BD The droplets of one rombos are longer than each other. The choices (1), (2), and (3) are true for all paralylogus, not just the rambosus. 14. The instructions line is points D (-4,-2) and E (1, 8). Point F divides that DF: F is 2:3. What are the F points? ¢aidlgy ¢5,5=3+2(0,3-) (1) :wls> FD [Jw E .1 &S [iwl, (IS
2 =(5) (2/5) ,9l ,5 = (4-)-2/5. Add 2 to 4 and you get-2, which must be x-consistent for F. So choose (1). 8-(-2) = 10 . 4 = (10) (2/5) ,5l. Add 4 to 2 and you must get 2, which must be y-consistent for F. Still choose (1). Note that point f must be on the line between F-D and E, so the selection (4) makes no sense at all. 15. Triangle Dean is the bottom of the

axis on the set. Dean has peaks (-6, -1), A (6, 3), and N (-3, 10). What is the area of the triangle? Answer: (1) 60 is a reason. It's a question of choice more than one, so you don't have to go the long way. You may feel that the DA shield is 1/3. This means that the height of the triangle can be found by starting at N (3, 10) and find the points that are 3 down
and 1 on the right, because the length is shield-3. It gives you the chance (0, 1). Call him. Then you can get the ad and THE LENGTH of NP, and then use these ones as base and height in formula (1/2) BH. However, there is another way. Create a large icon around the triangle, so that D, A, and N are touched by an icon each. The dimensions with this is 11
x 12, or 132 square units. Now remove the negative space- that's, three triangles out of the den. The first thing you will realize is that all the bases and heights are full numbers, so their areas are rational. This means that the choice (3) and (4) cannot be correct. At this point, knowing how Regents runs, you can be sure that the answer is 60, and it's 120 if you
forget to be hurt by 1/2, a common mistake. In doing so, you have 132-(1/2) (11) (3)-(1/2) (9) (7) (12) (4) s . Long way: The length of the ad is square root (-6-6) 2 s (-1-3) 2) scurt (144 s 16)
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below. What data is set up when the ABC is constantly being rotated? Answer: (3) (see picture) When you rotate the triangle, you will find a duplicate. The axis BC that it is spinning around, will be the height of the shin. The base of the triangle will become the resin of the shank. So is tall 3, the pulse is 5 and the veas is 10. Selection (3). Note that the choices
(1) and (2) are about the wrong line. 17. Circle A, Word AB and CD Cutting E in the diagram below. 58 uw sl [l £ il Jsl ° 72 = Sse JS1 s, how many degrees are in mDB? Answer: (3) 44 s 58 is an average 72 and mDB. 58 = (72 + x)/2 2 (58) = 72 + x 116-72 = x 44 = x. 18 .44 = 14-58 j4l . 14 =58-72 . ,, ,sb JsLis. In the triangle Shah Rakh Khan,
medians, KE, and RL Cutting M. Which statement should always be true? Answer: (1) 3 (MC) SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC SC

sc sc s That always means that one-third of the length of the entire median is at a distance from the contraward of the madpoint. So 3 (MC) sC is always true. Wrong selection: (2) MC 1/3 SC, no 1/3 SM . (4) SM and KM can be the same size but there is no reason they must be. 19. The regular multi-districts in MThe are surrounded about its center. Which
angle will the rotation take on itself? Answer: (3) 216 s is a full rotation 360 degrees. As a regular, a rotation will take on itself at every 1/5th. 360/5 s 72 degrees. So it will be in any kind of 72 degrees. 72 * 3 = 216. Wrong selection: (1) 60 degrees is for a single mass . (2) 108 degrees is the measurement of an entry angle of regular gainer . . . (4) 540 degrees
is the total number of degrees of entry angle. 20. What is an equation of the circle shown in the graph below? 2) :Clg=>) x2-10x + y2-4x =-13 o, s, lxo [J [0S [ 5 Sl (x h) 2 + (y-k) 2 =12 . 0= (h . k) 00 jS . The center is (5, 2) and the radas is 4, then (x-5) 2 s (y-2) 2 s s 42. The choices are not in standard form, so you must square the banoaals. x2-10x
+ 25 + y2-4x + 4 = 16 x2-10x + y2-4x = 16-25-4 x2-10x + y2-4x =-13 21. PQR [0 bl> LS Ll s ysbo sleio [0S « 5= x| [aw [awss Sl sl 5= aiso « 2= gal oy « 1 o Siw « gao p,SLI5 [055 [is 0= [IS. What is the length of QR? Answer: (4) The ratio between 17.5 merge lengths is the same. sl 2 = Gl oy JS1 13 RT=5. s QR 2.5 L PQ [ [ lol &S
And QR is up to 2.5 times as Much QP, so 2.5* 7 s 17.5 or you can write a ratio to find QT. 5/7 = x/(x + 5) 7x =5 (x + 5) 7x = 5x + 25 2x = 25 x = 12.5 ;31 QT = 12.5 I Wl> Oi, Ow (1> @ilw 05 < sl Usl & owls, pSLIS Gue Ju3 5= e[l Jw bbb S 0l ,sl. The angle is measuring AOB 120 s, and the length of a resin is 6 inches. What kind of expression
represents the length of the arc AB, in inches? Answer: (4) (1/3) (12) the circle has a cross length frame (2 s) divided by 360 parts of the central angle at times. (120/360) (2m) (6) = (120/360) (12m) = (1/3) (12m) 23. The line piece is ready to ef the height of the CD in the right triangle F. ,31 EC =10 sl EF=24.4.2 (1) .00 <lo= s3ul « g 01emwd pup cud « g
1,35 o,SLI5 Sl 4 o5 [0 wide 53w [1; LS1. Eddie has the lower leg of the right triangle EDC, and THE EC has the smaller leg The FEC is the right triangle eddc,and the EF triangle is the f-wor. .S) cawlis Sl x/10 = 10/24 24x 10) (10) = s juguai JSukl) X = 100/24 = 4.2 oS 5,1 [0S Gal] DiSow @So0 1 05 ¢ Gal] il pLSLIS Sl o1 J31 EC (3) bl 13[4 13, L[] oS [aw
ol owlws| 568 (4) ,sl. Eliminate them. 24. The line focuses on MN Point 2 is dilated by a scale element (0, 6). LS MN [J[] S &S Saiilasi Jaw o Sy =-3x + 6, wlglawo 9> M'N L[] [iSaw S Saislai S, MN 2) :0lg> 2 juguai S) Y =-3x + 6 4) sl (3) (S piz o5 wlxwl I3[« B[LS Lalli Joaw Jb3 S o5 L ). As long as the line goes through the
center of the play, a retrieval will only change the y-stop--that is, the center of the play is a point on the line. In this case, the line remains unchanged because the picture of each point will still fall on the same line. [J[] ¢3Y [0 Sl ugas Jgl < 00 o Y JS o 8 L I 00 aw 92 « 6 =6 6 + (0) 3-= 6 : oS Saz [JU [0S ywl. End this part. Questions, comments
and welcome correction. Welcome.
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